A)

A-(B)= 0O

D)

E)

F)

6)

4,304,773

4,304,773

4,304,773

4,960,000

4,304,773

2,152,000

wnN -

1,000




3,257,294

350,000 > 2,100,000
350,000 > 12 /31 406,451
295,896 (2 ) 334,578 (3 ) 630,474
310,954 =12 /31 120,369

36,257 1,500 X< =< 12,000
1,500 X< <12 /31 2,322
5,000 = > 20,000
5,000 < <12 /31 1,935
/
383,225 60,000 < < 360,000
60,000 < <12 /31 23,225
(
N )
125,879 5,000 (1 )+13,569 (2 ) 15,586 (3 ) 34,155
1,135 (1 )+8,057 (2 ) 5,953 (3 ) 15,145
76,579
52,515 4,000 X =< 24,000
4,000 <12 /31 4,645
10,000 10,000 =12 /31 23,870
35,806 15,000 < 30,000
15,000 <12 /31 5,806
214,837 50,000 < 100,000
50,000 =12 /31 19,354
20,000 < < 80,000
20,000 < <12 /31 15,483

j 198,960

198,960

4,304,773
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(A)

# IANTd
M M
2,152,000 2,289,400
#l\\\\\
2,152,773 2,289,54
4,304,773 4,578,000 / 273,227
# IANTd
M
4,304,773 4,578,000 273,227
4,304,773 4,578,000 273,227




